10.9
a.
There are two Nash equilibria:  A:M, B:M, and A:D, B:R.
b.
If played twice, there are four subgame perfect equilibria:  (1) A:M,M, B:M,M; (2) A:M,D, B:M,R; (3) A:D,M, B:R,M; and (4) A:D,D, B:R,R

c.
A:U, B:L is sustainable against A:D, B:R provided 
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against A:M, B:M provided 
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17.4
Q = 2L  and Profits = TR  TC = PQ  wL
    = 100Q  Q2  20L  2L2
    = 180L  6L2
π / L = 180  12L = 0 so

profit maximizing L = 15, Q = 30, P = 70.

To find competitive solution, calculate Total Costs as

TC = wL = (20 + Q) Q/2

MC =  TC/ Q = 10 + Q = P = 100  Q.

Hence, Q = 45, P = 55, L = 45/2, w = 65.

Under competition, output is greater, employment is higher, and wages also are higher.

 

24.3
AC = MC = 1000/well

a.
Produce where revenue/well = 1000 = 10q = 5000  10N.  N = 400.  There is an externality here because drilling another well reduces output in all wells.

b.
Produce where MVP = MC of well.  Total value:  

5000N  10N2.  MVP = 5000  20N = 1000. N = 200.

Let tax = X.  Want revenue/well  X = 1000 when N = 200.  At N = 200, average revenue/well = 3000.

 charge X = 2000.
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